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SN
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33 Hsus XN
ool DERN =Y (e @
SA - EH - SRA(B) - NRAY - B2 0f et o e Bl DE 2
ogxz 2,000
—SHEXXE AQXE Si= 100,000& = 20CH 2,000
02 3323l 49,872 44,192 5,680
Os32= & HA 33,672
—=8 =X G500t dE83ld= 1,600,000& = 12& 19,200
— XA SSAAEH MEILZ 100,000& = 12& 1,200
—SYFEX =502 HOHHA AHIAOIERE 30,000& » 128 360
—ASAHMYLE L AL YEHE R LESIIS 1,750 = 1,200 2,100
—UEHE AHN0IL SXIAN RESIIE 1,750 = 1,200 2,100
—MEILANN S5 ESIIE 1,7508 = 6004 * 43| 4,200
—SJIfE BE2 1,500 6001~ 122 1,080
—NSAEII S A LS A 2203 = 1,30004 = 12& 3,432
OAE &I =Xl 16,200
— XA A AE =X 1,000,000& 1,000
—Lolck=3tet RXIE 4 (S/W) 190,000,000 * 8% 15,200
202 OdH] 13,500 13,500 0
01 =LHOYI 13,500 13,500 0
OUSAEE Ha & USEAN =HE 225,0008 * 5% « 128 13,500
203 LR =& 1,000 1,000 0
03 A=A HS=LH| 1,000 1,000 0
OUSENEE 2153l 200,000& = 52 1,000
207 & 5OH 2 15,000 0 15,000
01 g1E S| 15,000 0 15,000
O=Al NHE SHMAIEA=E & 15,000,000& 15,000
301 LEtEH S 15,700 15,800 A 100
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SN - H - SRA(EH) - MRAY - Hl
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0l
N

-5 33,000 * 24% * 12 = 1.5 1,188
724
464

EUNCH

Zxg8AH RIIEEXZ K& 1,500,000 2,000,000 500,000

307 2120l A 1,500,000 2,000,000 500,000

HEXS 1,500,000 2,000,000 A500,000
HtEx=s NE 1,500,000,000& 1,500,000

o Ea2ds XE 358,453 277,878 80,575
28,728
99,919

229,806

M H1AO

402 2IbX=01S 358,453 277,878 80,575
28,728
99,919

229,806

M) H1 AL

01 212t 2x 358,453 277,878 80,575
S

SEAENZ N 2DIEY) 358,453,000 358,453

28,728
99,919
229,806

M A

HASAH HEXZ 405,956 405,956 0

202,978
202,978

M) A

402 2I2b =01 405,956 405,956 0

202,978
202,978

BTN

01 2ItAEEx 405,956 405,956 0
A

H HEXE 405,956,000& = 1OHSH 405,956
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202,978
202,978

M M

o
=
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=5
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70,000 70,000 0

t=0ld 70,000 70,000 0

22X 70,000 70,000 0
A 70,000,000& = 1JHS Al 70,000

=5
1
10
ir
rx
i
o

SHE 3g4A £ 300,000 600,000 A.300,000
30,000
15,000

255,000

M H1 AL

402 QIEE01H 300,000 0 300,000

30,000
15,000
255,000

M) H1 HO

01 2IEAEE X 300,000 0 300,000
OsE 2ZHA Y 100,000,000 * 3CH 300,000

30,000
15,000
255,000

M) H1 AD

WSHMAELZE &F & FH| 1,152,073 712,145 439,928
120,000
,032,073

EUR

oM - HOJAIE &X & Fl 852,073 622,145 229,928
120,000
732,073

EURCH

101 1A

5,544

5,192

352

04 JIZtHZE2NSES

5,544

5,192

352
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OB ASAODIA &3 Il (2250 2) 33,0002 * 14% + 122 5,544

LBV 846,529 616,953 229,576
= 120,000
2 726,529

Al HI 846,529 616,953 229,576
ORSHFAILE HX ¥ FH| 409,606
— Xk TH A 188, 189
SR 1,5408 * 57,265m 83, 189
Jbet A1 (42091 %238,096m) 100,000,00024 100,000
—HHBE HEM 181,530% * 2007 A 36,306
~DEMSI| X 41,812,5902 * 2944 83,626
—NSl, YBS, £FI| RAB4(2510) 20,000,000 20,000
~DEEXNE RX24 L Fy| 10,000, 0002 10,000
—DEASHOI B 7,000,0008 * 4JH4 28,000
~DENE)| BE B 2,174,240 * 2004 43,485
OLED F2S &X 9,032,9302! * 4044 36, 132
OEEHEE =7I| &3 2,958,3409 * 10044 29,584
ORSOHHEXE M| 153,787
—ZFA BXB 215,000 * 1003 21,509
—=FA BEXB 1,659, 1702 * 50% 82,959
—gE BN 6,164,8002 * 83 49,319
OEHZ AHOI3| ZBS &3 3,000,002 * 404 12,000
OHASHIDIA Al 8,000,0002 * 2JHA 16,000
OHASAGIIA ST 10,0002 * 1007H A 10,000
O& A& H I 44,420
~DENBIILIIBA 41,812,5009 * 8.63% * 34 10,826
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R WSHNEAEE BE & FHI (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
—0SJ,E8E F&) RUES 20,000,000& = 11.38% * 23l 4,552
—WSAUSHOAHI WHSBA 21,000,000& * 11.16% * 22/ 4,688
—wWSHSI EF DHSA 17,937 ,500& * 12.14% » 23] 4,356
—LED EES &X3A 18,066,000& * 12.14% » 23] 4,387
—EHE: 2| EX3A 19,229,500& * 11.60% * 23l 4,462
—wEENH ]I ¥ B 20,000,000 * 6.57% * 23| 2,628
—WSHEEXE HAXIBA 27,530,200 * 6.19% * 53] 8,521
O=0d WEI0ts HASIXNE 4X 15,000,000& 15,000
OEXSAEAHE LEOBUANMEHEE AlS(THEA2AIY) 60,000,000& 60,000
& 60,000
Ogat XOLEATHE! LEDBE MM EHE S AIZ(THEH2AAIY) 60,000, 000& 60,000
= 60,000
SEFXE 4X 300,000 90,000 210,000
401 Al&HI LR OHYI 300,000 90,000 210,000
01 Al&HI 300,000 90,000 210,000
OFEES MIMKFIE SSALY 300,000,000& 300,000
WP &S (ZHMEAID) 3,173,000 2,100,000 1,073,000
HWRAHAHXIZS(ZHMZAlID) 3,173,000 2,100,000 1,073,000
HWEAHHXS(ZHMEZAIR) 3,173,000 2,100,000 1,073,000
404 BI1E N2 E= 100,000 100,000 0
01 S ELEIHN=2NHEZ 100,000 100,000 0
O0l&IIY a=& K& 100,000, 000& 100,000
701 JIEtRI HE &3 3,073,000 0 3,073,000
01 JIEtSIHEES 3,073,000 0 3,073,000
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2 AHEAD
U WLES(FREAD)

eel WEHHXIES(ZHEAlD (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

OSXINISEHIISEESH H&E3 1,000,000,000& 1,000,000
Os3XN+=SE2H 8= 2,073,000,000& 2,073,000

HAH2AZH(ZHMEZAID) 46,900 38,600 8,300

oIA2AHI(Z M AID) 5,400 5,400 0

QAR HHI(ZMZAID) 5,400 5,400 0

203 HRF&HI 4,200 4,200 0

04 BEASSIHRFLHI 4,200 4,200 0
ORNMZEYEF=AI 350,000& = 12& 4,200

204 XA 1,200 1,200 0

01 Mg HPHAH| 1,200 1,200 0
OXMGH R A 100,000& = 1H *12& 1,200

Jl2ZHI(ZH S Al 41,500 33,200 8,300

Jl2Z2HI (B H T Al 41,500 33,200 8,300

201 LetIH| 26,500 21,200 5,300

01 AtR22ltl 26,500 21,200 5,300
Oget=gH| 10,000,000& 10,000
O=gl 55,000& * 256 » 123 16,500

202 O4Hl 15,000 12,000 3,000

01 =Yl 15,000 12,000 3,000
OJl=gf+d 50,000& » 25% = 123 15,000
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